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	1. Expression
	A mathematical statement written using symbols, numbers or letters,
	3x + 2  or  5y2


	2. Equation
	A statement showing that two expressions are equal
	2y – 17 = 15


	3. Identity
	An equation that is true for all values of the variables

An identity uses the symbol: 
	2x ≡ x+x

	4. Formula
	Shows the relationship between two or more variables
	Area of a rectangle = length x width or A= LxW


	5. Simplifying Expressions
	Collect ‘like terms’. 

Be careful with negatives. 
 and  are not like terms.
	


	6. times 
	The answer is  not .
	Squaring is multiplying by itself, not by 2.

	7.  
	The answer is  not 
	If p=2, then =2x2x2=8, not 2x3=6

	8.  
	The answer is 3p not 
	If p=2, then 2+2+2=6, not 

	9. Expand
	To expand a bracket, multiply each term in the bracket by the expression outside the bracket.
	

	10. Expand (and simplify) harder expressions

	To expand a bracket, multiply each term in the bracket by the expression outside the bracket, then collect like terms.
	
=   


or -  = -7x +11


	11. Expand (and simplify) quadratic expressions 

	Multiply every term in the first bracket by every term in the second bracket
	


e.g., and

	12. Factorise
	The reverse of expanding.
Factorising is writing an expression as a product of terms by ‘taking out’ a common factor.
	, where 3 is the common factor.

	13. Quadratic
	A quadratic expression is of the form



where  and  are numbers, 
	Examples of quadratic expressions:



Examples of non-quadratic expressions:



	14. Factorising Quadratics
	When a quadratic expression is in the form  find the two numbers that add to give b and multiply to give c.
	
(because 5 and 2 add to give 7 and multiply to give 10)


(because +4 and -2 add to give +2 and multiply to give -8)

	15. Difference of Two Squares
	An expression of the form  can be factorised to give 
	


	16. Expand the product of more than two binomials
      
	Expand 2 of the brackets to get a quadratic. The multiply each term of the quadratic by the terms in the third bracket.
	      e.g. (x + 5) (x – 2) (2x -3 )

	17. Factorising Quadratics when 
	When a quadratic is in the form

1. Multiply a by c = ac
2. Find two numbers that add to give b and multiply to give ac.
3. Re-write the quadratic, replacing  with the two numbers you found.
4. Factorise in pairs – you should get the same bracket twice
5. Write your two brackets – one will be the repeated bracket, the other will be made of the factors outside each of the two brackets.
	Factorise 

1. 
2. Two numbers that add to give +5 and multiply to give -24 are +8 and -3
3. 
4. Factorise in pairs: 

5. Answer = 

	18. Completing the Square (when 
	A quadratic in the form  can be written in the form 

1. Write a set of brackets with  in and half the value of 
2. Square the bracket.
3. Subtract and add 
4. Simplify the expression.

You can use the completing the square form to help find the maximum or minimum of quadratic graph.
	Complete the square of 

Answer:




The minimum value of this expression occurs when , which occurs when 
When , 

Minimum point = 

	19. Completing the Square (when 
	A quadratic in the form  can be written in the form p

Use the same method as above, but factorise out  at the start.
	Complete the square of 

Answer:
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